MRABEICE TS IREANERER

1/14

($%11)



MRABEICE TS IREANERER

AR : 8 & 3-10

SHSEE
AEE KR B o 5 AEE(RATAY—AVEEER) | e e
5cm 50c¢m 100cm
DIBERIBFR — 0.06 — PA-1000
@/8—35F — 0.08 — PA-1000
21BN REEIEER — 0.08 — PA-1000
@K ER R — 0.06 — PA-1000
whi5 0.06 0.08 — PA-1000
DIBERIZFR — 0.07 — PA-1000
@/k—35TF — 0.10 — PA-1000
8/16(A)EY EEIEER — 0.07 — PA-1000
@IKERF+ — 0.07 — PA-1000
whi5 0.05 0.06 — PA-1000
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MRABEICE TS IREANERER

AR : 8 & 3-10

SH24EE
AEE KR B o 5 AEE(RATAY—AVEEER) | e e
5cm 50c¢m 100cm

DIBERIBFR — 0.07 — PA-1000

@/8—35F — 0.09 — PA-1000

11/4(K) BN EEWHER — 0.08 — PA-1000

@K ER R — 0.07 — PA-1000

whi5 0.06 0.07 — PA-1000

DIBERIZFR — 0.06 — PA-1000

@/k—35TF — 0.08 — PA-1000

5/11(A)Eh EEWEER — 0.07 — PA-1000

@IKERF+ — 0.07 — PA-1000

whi5 0.05 0.07 — PA-1000

TR
B B R Bl AEE (AT —AVEEE) | e s
5cm 50¢m 100cm

QB0 — 0.06 — PA-1000

@/8—35F — 0.10 — PA-1000

11/1(&)BEAL B &M E — 0.08 — PA-1000

@K &R 7+ — 0.07 — PA-1000

whis 0.05 0.07 — PA-1000

ORI — 0.07 — PA-1000

@/8—35F — 0.10 — PA-1000

5/7(K)EEN EEWHER — 0.07 — PA-1000

@K &7 — 0.07 — PA-1000

whis 0.06 0.07 — PA-1000

3/14 (#%11)



MRABEICE TS IREANERER

AR : 8 & 3-10

T RR304EBE
AEE KR B o 5 AEE(RATAY—AVEEER) | e e
5cm 50c¢m 100cm

DIBERIBFR — 0.07 — PA-1000

@/8—35F — 0.10 — PA-1000

11/1(R) BN EEWHER — 0.07 — PA-1000

@K ER R — 0.09 — PA-1000

whi5 0.07 0.08 — PA-1000

DIBERIZFR — 0.07 — PA-1000

@/k—35TF — 0.09 — PA-1000

5/7(RA) &Y EEIEER — 0.08 — PA-1000

@IKERF+ — 0.09 — PA-1000

whi5 0.06 0.06 — PA-1000

FRR294EE
B B R Bl AEE (AT —AVEEE) | e s
5cm 50¢m 100cm

QB0 — 0.05 — PA-1000

@/8—35F — 0.11 — PA-1000

111K AR B &M E — 0.09 — PA-1000

@K &R 7+ — 0.07 — PA-1000

whis 0.05 0.06 — PA-1000

ORI — 0.06 — PA-1000

@/8—35F — 0.10 — PA-1000

5/1(A)ENn EEWHER — 0.12 — PA-1000

@K &7 — 0.08 — PA-1000

whis 0.06 0.06 — PA-1000

4/14 (#%11)



MRABEICE TS IREANERER

AR : 8 & 3-10

R 284E B
AEE KR B o 5 AEE(RATAY—AVEEER) | e e
5cm 50c¢m 100cm

DIBERIBFR — 0.06 — PA-1000

@/8—35F — 0.11 — PA-1000

11/2(K)£Y REEIEER — 0.11 — PA-1000

@K ER R — 0.09 — PA-1000

whi5 0.06 0.07 — PA-1000

DIBERIZFR — 0.06 — PA-1000

@/k—35TF — 0.10 — PA-1000

5/9(R) &Y EEIEER — 0.11 — PA-1000

@IKERF+ — 0.09 — PA-1000

whi5 0.06 0.07 — PA-1000

FER2TEEE
B B R Bl AEE (AT —AVEEE) | e s
5cm 50¢m 100cm

QB0 — 0.07 — PA-1000

@/8—35F — 0.14 — PA-1000

11/40K) R B &M E — 0.13 — PA-1000

@K &R 7+ — 0.09 — PA-1000

whis 0.08 0.06 — PA-1000

ORI — 0.09 — PA-1000

@/8—35F — 0.13 — PA-1000

5/1(&)EN CE &L ER — 0.13 — PA-1000

@K &7 — 0.09 — PA-1000

whis 0.06 0.10 — PA-1000

5/14 (#%11)



MRABEICE TS IREANERER

AR : 8 & 3-10

T RR264E
AEE KR B o 5 AEE(RATAY—AVEEER) | e e
5cm 50c¢m 100cm
DIBERIBFR — 0.09 — PA-1000
@/8—35F — 0.13 — PA-1000
2/2(A)EN EEWHER — 0.12 — PA-1000
@K ER R — 0.11 — PA-1000
whi5 0.07 0.07 — PA-1000
DIBERIZFR — 0.09 — PA-1000
@/k—35TF — 0.14 — PA-1000
11/4(CR)BENR EEWEER — 0.13 — PA-1000
@IKERF+ — 0.09 — PA-1000
whi5 0.06 0.07 — PA-1000
DIBERIZFR — 0.09 — PA-1000
@i\—35F — 0.14 — PA-1000
8/1(&)EN EEEER — 0.13 — PA-1000
@IKERF B — 0.11 — PA-1000
whi5 0.06 0.07 — PA-1000
OIEERIZFR — 0.10 — PA-1000
@/8—35F — 0.15 — PA-1000
5/1(R)EHN CEEEER — 0.13 — PA-1000
@K &7+ — 0.10 — PA-1000
whi5 0.06 0.08 — PA-1000
6/14 (#%11)



W A EICH T DM IRERELR

FRTEHh: $2 & 3-10

R 254
— — BIEE(RAoOY—A )L BHE —
AER - KB T Hh - &) AES B
5cm 50c¢cm 100c¢m
DR RIS — 0.09 — PA-1000
@/8—35F — 0.13 — PA-1000
3/3(A) Bh QEALEER — 0.13 — PA-1000
@K BRHAFh — 0.09 — PA-1000
5 0.05 0.06 — PA-1000
DB R IG5 — 0.09 — PA-1000
@i8—35F — 0.14 — PA-1000
2/6(K) Bn QEEHEER — 0.12 — PA-1000
@K ER B3 — 0.10 — PA-1000
i 0.05 0.07 — PA-1000
DR RS — 0.09 — PA-1000
, @/8—35F — 0.15 — PA-1000
1 /j%ﬁfé?f%n QEEEER — 0.13 — PA-1000
@K BRHA 7 — 0.11 — PA-1000
5 0.06 0.07 — PA-1000
DB R IG5 — 0.09 — PA-1000
@/—35F — 0.14 — PA-1000
1273() Bh QEAEER — 0.12 — PA-1000
@K ER M B3 — 0.09 — PA-1000
i 0.06 0.07 — PA-1000
DIRE&I5FT — 0.09 — PA-1000
@i8—35F — 0.13 — PA-1000
11./5(0K) Bhn QELEEER — 0.12 — PA-1000
@K BRFFp — 0.09 — PA-1000
i 0.06 0.06 — PA-1000
DIEKIGFR — 0.08 — PA-1000
@/8—35F — 0.15 — PA-1000
1074(£) 2Y QEEHEER — 0.13 — PA-1000
@K B8R fh — 0.10 — PA-1000
i 0.06 0.07 — PA-1000
7/14 ($%11)



W A EICH T DM IRERELR

FRTEHh: $2 & 3-10

TRR254ERE
AT X B S Lbia W7 v ) B %
5cm 50cm 100c¢m
DIBERI5 T — 0.10 — PA-1000
@/8—35F — 0.15 — PA-1000
9./3(K) Bn QEEHER — 0.14 — PA-1000
@7KERF i — 0.11 — PA-1000
bi5 0.06 0.07 — PA-1000
O ERIHFT — 0.10 — PA-1000
@/s—35F — 0.16 — PA-1000
QEEEER — 0.14 — PA-1000
@K ER B — 0.10 — PA-1000
8.71(K) £Y bi5 0.06 0.07 — PA-1000
AN F — 012 — PA-1000 EERFBIE (REFEIFH D ATFEIEH 5 S5 FF)
BN F — 0.16 — PA-1000 ”
ON>F — 0.14 — PA-1000 7
O~ F — 012 — PA-1000 ”
DI — 0.09 — PA-1000
@/x—35F — 0.15 — PA-1000
771(RA)EY QA EER — 0.12 — PA-1000
@K ERF — 0.10 — PA-1000
i5 0.05 0.07 — PA-1000
DIREXIGFT — 0.09 — PA-1000
@/8—35F — 0.15 — PA-1000
6./4(K) Bh QA EER — 0.13 — PA-1000
@7KERF i — 0.12 — PA-1000
fbi5 0.06 0.08 — PA-1000

8/14

($%11)



W A EICH T DM IRERELR

FRTEHh: $2 & 3-10

TRR254ERE
AT KR B S Lbia W7 v ) B %
5cm 50cm 100c¢m
DIBERI5 T — 0.09 — PA-1000
@/8—35F — 0.15 — PA-1000
5/15(K) BEh QA EER — 0.13 — PA-1000
@7KERF i — 0.11 — PA-1000
i5 0.06 0.07 — PA-1000
O ERIHFT — 0.09 — PA-1000
@8s—35F — 0.15 — PA-1000
415(R) Bh RE&HER — 0.13 — PA-1000
@K ER B — 0.11 — PA-1000
15 0.07 0.08 — PA-1000
9/14 (#%11)



MR AEICE T DS IR EREFRER (FRH23~24F[F)

L]

10/14 ($%11)



W A EICH T DM IRERELR

FRTEHh: $2 & 3-10

TR24ERE
AEE X A AERRRATELIEER) | gy %
5c¢m 50cm 100cm

Dt ER () — 0. 08 — PA-1000
Qb5 0. 06 0. 08 — PA-1000
3/1(A) <3V QEEHER — 0.14 — PA-1000
@K ERF B — 0. 11 — PA-1000
®/8s—35F — 0.16 — PA-1000
Okt iLER (Z) — 0. 08 — PA-1000
Q5 0. 06 0. 08 — PA-1000
2/1(&) Bn QEEHER — 0.16 — PA-1000
@7KERF — 0.14 — PA-1000
®/ 8 —I5TF — 0.17 — PA-1000
O L ER (GZ) — 0. 25 — PA-1000

o5t @@@Aﬁ%‘fg _ 0.15 0.19 — PA-1000 o—h ETEHA
1 1(B) Bh &R — 0. 23 — PA-1000
@K ER B — 0. 21 — PA-1000
®/I—35F — 0.19 — PA-1000
Ot i ER (2) — 0.19 — PA-1000

Qb5 0.19 0. 25 — PA-1000 —h L TEHAI
1273(H) &Y QEEHER — 0. 23 — PA-1000
@KERF — 0. 25 — PA-1000
®/I—T5F — 0.18 — PA-1000
O L ER (GZ) — 0. 18 — PA-1000

Qb5 0.19 0. 24 — PA-1000 —hETEHAI
1/70K) BEn B &ML — 0. 20 — PA-1000
@K ER B — 0. 25 — PA-1000
®/IR—35F — 0.19 — PA-1000

11/14 (#%11)



Wiz REICH T OMS R R ERLR

AR : 8 & 3-10

T4
AER KR BT ARRATOSZAVEER) | g %
5cm 50¢m 100cm

Ot L ER () — 0. 14 — PA-1000

Qb5 0.18 0. 21 — PA-1000 o—h ETEHE
10.720K) HEHQ Q& EER — 0. 25 — PA-1000
@7KERF i — 0. 22 — PA-1000
®/—d5TF — 0.19 — PA-1000
O L ER (GZ) — 0. 30 — PA-1000

Qb5 0.17 0. 21 — PA-1000 o—bhETEHAI
9.73(B) Bh QEALEER — 0. 24 — PA-1000
@K ER B — 0. 23 — PA-1000
®/—35F — 0. 21 — PA-1000
Oghtth i ER (2) — 0. 34 — PA-1000

Q5 0.17 0. 24 — PA-1000 o —b L TEHE
8./1(K) Bh CEALEER — 0. 25 — PA-1000
@7KERF — 0. 26 — PA-1000
®/I—T5F — 0.19 — PA-1000
O L ER (GZ) — 0.18 — PA-1000

Q15 0.19 0. 24 — PA-1000 o—hk ETEHA
1720K) Bh B &M E — 0. 23 — PA-1000
@7KERF i — 0. 23 — PA-1000
®/8—35F — 0. 21 — PA-1000
Ot h i ER (G2) — 0. 22 — PA-1000

Qb5 0. 26 0. 29 — PA-1000 L—bETEA
6./7(K) Bh CEALEER — 0. 23 — PA-1000
@KERF — 0. 25 — PA-1000
®/I—T5F — 0. 21 — PA-1000

12/14 (#%11)



Wiz REICH T OMS R R ERLR

AR : 8 & 3-10

TR 23~244E
B KR A A AERATBL—ZNEER) ] s %
5¢m 50cm 100cm
O b ER (GZ) — 0. 28 — PA-1000
Qb5 0.19 0. 26 — PA-1000 o—h ETEHE
5/8(K) BN CEELEER — 0. 26 — PA-1000
@7KERF i — 0. 28 — PA-1000
®/—d5TF — 0. 22 — PA-1000
O L ER (GZ) — 0. 29 — PA-1000
Qb5 0. 21 0. 24 — PA-1000 o—bhETEHAI
410(K) Bh B &M E — 0. 23 — PA-1000
@K ER B — 0. 29 — PA-1000
&/ —T5TF — 0. 21 — PA-1000
Okt LER (Z) — 0. 34 0. 29 PA-1000
Qb5 0. 29 0. 31 — PA-1000 —k L TEHAI
3/1(K) £Y QEEHER — 0. 29 — PA-1000
@7KERF — 0. 34 — PA-1000
®/s—35F — 0. 26 — PA-1000
O L ER (GZ) — 0. 23 0. 25 PA-1000
Q15 0. 39 0. 32 — PA-1000 o—b ETEHA
2/2(K) BEn B &M E — 0. 31 — PA-1000
@7KERF i — 0. 30 — PA-1000
®/I—35F — 0. 29 — PA-1000
Ot h i ER (G2) — 0. 37 0. 34 PA-1000
. Qw5 0. 22 0. 28 — PA-1000 o—hk ETEHAI
: /%?ﬁﬁﬁu OE AR — 0. 29 — PA-1000
@KERF — 0. 35 — PA-1000
®/I—T5F — 0. 27 — PA-1000
127200K) BN b5 0. 37 — — PA-1000
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Wiz REICH T OMS R R ERLR

AR : 8 & 3-10

T R234EFE
AER KR BT ARRATOSZAVEER) | g %
5cm 50¢cm 100¢cm
i ER (L) — 0. 25 0. 26 PA-1000
) = Win 0. 21 — — PA-1000
1276000 =Y BUBT — 0. 38 — PA-1000
JKEAE AT — 0. 31 — PA-1000
AOTEKEAA — 0. 36 — PA-1000
1M/17(K) BEh eEZ & — 0. 32 — PA-1000
BRAAIAE A A — 0. 20 — PA-1000
1 8(k) BY Bt ER (L) — 0. 21 0. 23 PA-1000
ibis 0. 22 — — PA-1000
Bt ER (L) — 0. 24 0. 24 PA-1000
ibis 0. 26 — — PA-1000
10.7190K) £Y &k it — 0. 39 — PA-1000
HE A A — 0. 33 — PA-1000
IKERAIZ KB — 0. 36 — PA-1000
- oKt — 0. 39 — PA-1000
g/i(m,f)?’gﬁﬁh FEA A — 0. 32 — PA-1000
KR A KB — 0. 35 — PA-1000
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